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Choose the correct answer:

I Access on internal thorough fares betwe pms of the same floor or between floors is
known as ‘
a) rospect
c) Both (a) & (b)

ah 1able room

u) Dining room ) |
) Nune ol these

- ¢) Both (u) & (b)

-

The peculiarity of the arrangement of doors & windows in the external walls of a
building means ____ of planning the building ;

ay Aspect 3
¢) Roominers

4. Setting different rooms of a building aceord; ng 1o theit inter-relationship means___
of planning the building. J y
#§ Grouping-
¢) Both (a) & (b}

5. The overall effect produced by elevation & general layout of the plan is known as -
a) Economy by
¢) Flexibtlity

6, The minimum elear head-room in any stiiresse shell be
a) |.5m ‘
422m

7. TFor domestic building. the maximum riseris -
. a) 250 mm B 190 mm
¢) Both (&) & (b) ~d) None of these

8. The aren, forming an integral part of the plot. left open to the sky is known as -

) Piot 0pcn space
¢) Nusement d) Porch

-
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10.

14

13.

14.

15

16.

17.

18.

19.

I'he horizontal projection to serve s passage on silting out place including a hand  rail
is known as G

>

#) Corridor b) Porch

¢) Stony d) Buleony

A nurrow space or a gallery or of mmunication (o dilferent parts of @ building is
known as- '

a) Corridor b) Porch

c) Balcony d) All of these
Permissible stresses in steel ft ? "" mpression is
43'140 N/mm? w 135 Nimm’
c) 132 Nfmm* d) 130 Nfmm®
Permissible strcmcs inMsis A

) S0 kg lcm 'b) 40 kg/ em”
c) 60 kg / em’ ~d) Both (a) & (¢)
Minimum yield stress of bars belg -

a) 4050 kg/ em® b) 5000 kg /em®
¢) None of these - d) Both (1) & (b)

sss than

Diameter of longitudinal bars should not be I
b)4$mm

a) 50 mm
¢) 30 mm d)yi2zmm - -
Spacing of bars measured along the periphery of the column shall not exceed —
1) 300 mm b3 450 mmn
¢) 350 mm 'ﬁoth (a) & (b)
Weight of R. ¢cc should a nas-
a) 2500 kg/ m’ 15) 2000 kg / m
¢) Both () & (b) - djNone of these
The clear cover in slab should net be less than -
a) 20 mm b) 25 mm
¢ 15mm d) 10 mm
An arc can be drawn by s wu'nin: points.
a) One 1) Three
c) Four d) Both (a) & (c)
A is 2 smooth curve that passes through or near a piven set of pinis.
a) Danuts ~ b)Splines
¢) Construetion line d) Noie of thesc
The shape of  is determined by two axes that defines its length & widdh.
a3 Ellips b) Splines
¢) None of these d) Both (a) & (b)
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21 F'wo-dimensional enclosed arca means that have physical properties.

af Region b) Plotting

¢) None of these d) Both (1) & (b)

23.

24.

27.

28,

29.

30.

3l

32.

33.

A beam extending beyond the supports is e led
ayOverhanging beam ) ‘w\ mply supporied beam
¢} Fixed heam ”'. Cantilever beam

A cantilever beam is one which is

u) Fixed at both ends : '_,-';.-._. at onc end and [ree at the other end
c) Both (a) & (b) d) None of these

A beam which is fixed at one end & free at the other end is called

a) Simply supported beam ) Fixed beam

cFOverhanging beam 4y Cantilever beam

Rivets are generally specified by A

a) Thickness of plates to be jointed b) Overall length

¢f Diameter of head d) Shank diameter

The distance between the centre of a rivel hald of the nearcst edge of plate is called

a) Margin

c) Buck pitch d) Diagonal pitch
Transverse fillet welds arc designed for

a) Tensile strength iending strength

¢) Shear strength Compressive straight
The columns whose slenderness ratio is less than 80 are known as -
a) Short column b) Long column

c) Weak column d) Medium column

The rankines formula holds good for -

a) Short columns b) Long columns

¢) Both (2) & (b) d) Medium columns
Lame’s theory is associated with —

a) Thin eylindrical shell b) Thick cylindrical shell
¢) Direet & bending stress “d) None of these

The hoop stress in a thin cylindrical is

a) Longitudinal stress 'b) Compressive stresses
¢) Radial stress d) Circumferential tensile stress
FFor brick work, no deduction is made for area of opening upto

a) 0.1 sqm. b) 0.2 sqm

¢) 0.5 sqm. y d) I sqm.

The unit o' measurement for 10 em half brick wall is -

#) Cubic meter . b)Squarc meter

¢) 10 sqgm d) None of these
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36.

37.

38.

39.

40.

4l.

42.

43,

The multiplymg factor for painting a collapsible gate measured (uf (size of opening) all
over is
u) 1.3
¢)2

b) I.5
d)3

FFor artificial stone Nooring oreen , nerele Nooring. the area ol any panel shall not be

more than

a) 1.5 sym b) 2 sgm

¢) 3 sqm d) 4 sqm

The capacity of breaking of k 10 ballast in cu.m per day per mazdoor is
a) 1.0 b) 0.55

¢)0.75 . d)080

The quantity of snow-cem paining 1o new plaster in sq. m per painter per day is -
a) 50 b) 40

c) 30 d) 20

The quantity of half brick work in super structure. ground floor per day per meson on —
a) 0.5cum b) I.0cum

¢) l.S5cum d)2cum

The unit of measurement of dividing strips for Mloor finishing is in

a)Kg ~ brm -

c)sqm d) All of these

For glaring, cach panc of glass shall be measured to the ncarest -

a) 0.0l cm ‘ b) 0.10 em

c) 0.50 cm d) 1.0 e¢m

Terrazzo floor is measure

a)Sqm b) cum

cjrm d) All of these

In a singly reinforced concrete be e load s very small -

a) Only concrete will resist tensios
b) Only steel bar will resist tension
¢) Both concrete & stec! will res
d) Both concrete & steel will re

In singly reinforced beam, steel reinforcement is provided in -

a) Tension zone b) Compression zone
c) Both (a) & (b) d) Neutrul zone

The workability of concrete can be improved by adding

a) Hydrated line & i b) Calcium oxide

c) Fly-ash ‘ d) All of these

con'dunsl "
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45.

47,

48.

49,

50.

The top diameter, bottom diameter & height of mould uscd for slump test are

respectively - 7
# 100 mm. 200 mm. 300 mm b) 200 mm. 100 mm, 300 mm
¢) 200mm. 300 mm, 100 mm : d) 100 mm, 300 mm, 200 mm

For the improvement of workability of ¢o
is—

a) Irregular
¢) Round

e, the shape of aggregation recommended

The chemical ingredient ratio of cement v
cement should be -
a) 63:22:6:3
c) 22:63:6:3

vhich provides quick setting property to the

Efflorescence in cement is caused di e 10
a) Silica byLii
¢) Alkalies 4) Iron Oxide

The bulk density of aggreguies depend:

a) Shape
¢) Compaction

¢) Granular

-
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